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| | | © PartA o

O o . : Aﬁswer_ any ten quest_ioﬁs.
' Each question carries 2 marks.
What is cost tnit ? . | .
What is JIT ? |
: Deﬁne'marginal costing.
“What is budget ? »
What is margin of safety ? ' A L =
Explain ABC analysis. h L ‘ o
What is piece rate wage system.?
What is Re-order level ? . Ly |
, What is cash budget? |
O 10. . What is FIFO method ?
" 11. Whatis fringe benefit ?

e I R R

12.. What is the difference between spoilage and scrap ? '
| | (10 x 2 = 20 marks)
- . PartB I o
Answer any six question.s_'.
« Each question carries 5 marks. .
13. Whatis the labouf turriover and its caus‘es‘?

14. 'Give a specimen of the cost—sheet

15. Fmd out EOQ when the annual consumption is 6 000 kg. ordenng cost is Rs. 120/ order, prize
" per kg. is Rs. 20 and carrying cost is 20 %. Also ascertain the frequency of placing order.
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;1. Difference between time keeping and time booking.

What are the different tools arid technlques of management ac"ountmg ?

3, {‘rom the data given below :

_ Calculate machine-hour rate :

- Rate/annum

~ _Items

‘Rent of department (space)
occupled by the machine is. 1/5th
ofthe department - o L . 1780

Supervision nqmber of men in the . ] - ‘ o ' O
department 12, two men
are.engaged on this machine- . 288

Insurance ' o 36 ‘

Cotton waste, oil et 60

7 4 & Salary of foremen (1/4th of the
% - foreman’s time is occupied by this ‘ 4 s
‘ ‘machine - ' ‘ ‘ 6,000

- " Thecostof the machine is Rs. 9,200 and it has an estimated scrap value of Rs. 200. It is ascertained - -

from the past experience that :

(a) The machine will work for 1 800 hrsjannum

(b) It will incur expenditure of Rs. 1,125 in respect of repan's and maintenance durmg the
whole peri‘od of life. : - ; _ O

(¢) Tt consumes 5 units of power/hr at the cost of Re. llumt

' (d) Working I;fe of the machme wlll be 10 years. -

19. Vasanth Ltd. purchased and issued the materials in the following order :

2017 January 1

' 5

10

_ , 12
15
.20

30

Ascertain the quantity
average cost method.

Purchased 300 gnite @ Rs. 3/ unit.

Pui'chased 500 units @ Rs. 4/ unit.

Issued 5,000 units. .

Purchased 7,000 umts @ 7/ unit. ' -
Issued 700 units. ‘ ‘

Purchased 300 units @ Rs. 5/ unit

Issued 150 units.

and value of closing stock asﬂl on January 315t 2017 under the weighted




20.
21.

22.

24,

25.
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Explain cash budget. &

Explain the difference between Halsey and Rowan Plan. ‘ |
{6 x'5 = 30 marks)

Pait C
Answer any two- questions.‘
Each question carries 15 marks.

Explain the difference between financial accounting and cost accounting.

Explain the term marginal costmg ? tht are the advantages and d1sadvantages of marginal
costing ?

The following are the.ﬁgures relating to the production of commodity for the month of January
2017 : - :

1-1-2017 31-1-2017

_ A . (INR) -~ ﬁ' (INR)
,‘ Stock of raw material - 3 ' 75,00_0 50,000 .
»‘Worfk in progress ) - 5,000 | '3,000

Stock of finished goods ' w . 75,000 . 53,000 - "
Pui'chase of l‘aw mé.tleria.l . — 10,000
ﬁirectwages _ ' | . 7 . 5,000
Work over heads ' . - a B © 2,000
Adnﬁnistretionlovelrhead - ' — . 3,000
Selling and Distribution overheacl . : | — 2,000 -

" Sales | ' = 1,77,000

Prepare Cost Sheet showmg cost of productlon and proﬁ{,

In a factory two types of radios are manufactured popular and delux models From the followmg
partlculars, prepare a statement showmg cost and proﬁt; per radm sold. There is no opening
stock :

"Popular Delux

Labour . 46,800 162,920

Material -~ ... : 81,900 1,08,680
: Turn over
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Work overhead is charged at 80 % on labour and office overhead_at 15 % on work cost.
Popular radio sold are 234 at Rs, 1,000 each and Delux radio 286 at Rs. 1,100 each. If work
-expenses are Rs. 87,000 and office expenses Rs. 58,000. Find out the profit as per financial

dccounts. Prepare a reconciliates statement to re«_:dngile the cost prdﬁt disclosed by financial
books. )

(2x15=30 marké) :




